
1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 1/9

Title: Drum Module 77
File: dm77.sch
Sheet: /
David Haillant
http://www.davidhaillant.com

Sheet: LFO

File: lfo.sch

LFO

Sheet: Noise generator

File: noise_gen.sch

Noise

Sheet: VCA

File: vca.sch

Env
Out

Triangle

Noise

ExtIn

Sheet: Oscillator

File: oscillator.sch

Saw

Sweep

LFO

Ext-CV

Sheet: Input

File: input.sch

Env

Gate

Sweep

ManualGate

Sheet: Power

File: power.sch

Sheet: Saw to Triangle

File: saw2tri.sch

TriangleSaw

Sheet: Hardware parts

File: hardware.sch

FGND

FGND

S

T

J4

Output

S

T

J1

Gate In

FGND

FGND

S

T

J3

Ext. input

1
2

S
1

M
an

ua
l T

rig

S

T

J2

CV In

F
+

12
V

out

F-out

extcv

F-extcv

extcv

F-outout

out

F-out

F-extcv

F-extcv

extcv

2

Sweep

LFO

First Release

Gate

Board to board connection

4

Trig
In

SweepRelease

1

2

VCO

CV
In

1

Out

Noise
lvl

Out

2

LFO

Ext
in

Ext lvl

FM



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 2/9

Title: Drum Module 77
File: input.sch
Sheet: /Input/
David Haillant
http://www.davidhaillant.com

cc
w 1

2

3

R
7A 1M

FGND

R
2

10
k

C4

2u2

D
3

1N
41

48

D7

1N4148

R
6

10
0

R28
1k

D
4

E
nv

R
9

1k

R5
100k

R
3

10
0k

C1
100n

cc
w 1

2

3

R
8A

10
0k

+10

8

-9

U1C
TL074

+12

-13

14

U1D
TL074

FGND

GND

GND

?

TP2
Env

1 2

S2G/T

FGND
R

1
10

0k
GND

4

R
7B 1M

4

R
8B

10
0k

C2
100n

D10

1N4148

Jumper

FGNDFGND

FGND

G
N

D

R65
10k

D
1

1N
41

48

D
2

1N
41

48

FGND

V
-

11
V

+
4

U1E
TL074

C3

100n

ManualGate

Gate

Env

Sweep

F-trig-unb

decay

F
+

12
V

F-decay

-1
2V

+
12

V

F-env

Env

trig-unb

Sweep

F-sweepF-sweep

F-trig-unb
de

ca
y

trig-unb

F
-e

nv

F
-d

ec
ay

E
nv

F-sweep

decay

Sweep

trig-unb

F-env

Env

F-decay

Sweep

F-trig-unb

E
nv

Decay

http://tinyurl.com/yy7pmp3z
V0.5:
V0.6 (OR gate):

ATTENTION !
Lorsque le cavalier S2 est placé sur Gate, si Release est au plus court, la sortie de U1C est chargée à 100 Ohms seulement.

R6 à 220 ? 330 ? 470 ?

470

Trig convertion, buffer, Decay and Impact gen:

http://tinyurl.com/y7k7q6z7

Sweep

http://tinyurl.com/y9xdnpsp

http://tinyurl.com/y7wfq5wz

Modifying potentiometer curve:

http://tinyurl.com/yd5fvfjp

http://tinyurl.com/yacy38bq

Board to board connection



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 3/9

Title: Drum Module 77
File: lfo.sch
Sheet: /LFO/
David Haillant
http://www.davidhaillant.com

+5

-6

7

U4B

TL0741

-2

+3

U4A

TL074

4

R
4B

10
0k

cc
w 1

2

3

R
4A

10
0k

?

TP3
LFO S

4

R
15

B

10
0k

?

TP4
LFO T

FGND

C5 220n

D
5

LF
O

 A
ct

iv
ity

R
16 1k

R14
1k

cc
w 1

2

3

R
15

A
10

0k

FGND

FGND

FGND

FGND

R11
150k

R
12 10

R10
100k

LFO

F-LFO

LFOS2

LFO

F-LFOS2

LFOT

F-LFOT

F-LFOS

LFOSLFOS

F-LFOT

F-LFOS2

LFOS2

F-LFOS

LFOT

F-LFOS

LF
O

S
2

LFOT

LFOT

LFOS

LFOS

F-LFOT

F
-L

F
O

S
2

F
-L

F
O

S

LFO

F-LFO LFO

F-LFO

50k LOG

(Or bi-color LED)

LFO Mod.

Board to board connection

LFO Rate
100k

Inspired by ASM-1 LFO

Schmitt Integrator

-7V to +7V

-10.5V to +10.5V

http://tinyurl.com/y982m8vn

LFO Schmitt

LFO Triangle

1k
(higher F)

-7V to +7V

-10.5V to +10.5V



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 4/9

Title: Drum Module 77
File: noise_gen.sch
Sheet: /Noise generator/
David Haillant
http://www.davidhaillant.com

C
6

10
0n

R
39

47
k

GND

GND

R
38

10
0k

C15

10u

+5

-6

7

U1B
TL074

C
7

10
0n

R
20 1k

R
19

10
0k

GND

GND

R
18

10
0k

C 1

B
2

E 3Q1

BC547

R
17

47
k

?

TP5
Noise

Noise

+
12

V

N
oi

se

noise source

R19 = 100k

Fco = 15.9Hz

Cut Collector leg
(see PCB)



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 5/9

Title: Drum Module 77
File: vca.sch
Sheet: /VCA/
David Haillant
http://www.davidhaillant.com

R
30

47
0

GND

V
+

11

B7

E
8

U3C

LM13700

B10

V
+

11
E

9

U3D

LM13700

cc
w1

2

3
R

24
A

10
0k

R23

47k

R22

47k

R27

100k

cc
w 1

2

3

R
21

A
10

0k
 L

FGND

F
G

N
D

R
31

47
0

C
1

db2
+3

-4

5

U3A
LM13700

12

-13

+14

db15 C
16

U3B
LM13700

R
34

10
k

GND

GNDGND

R29

100k

4

R
24

B

10
0k

1
-2

+3

U1A
TL074

R36

150k

GND

C
23

10
0p

C9

100n

R
35

47
0

R
33

47
0

GND GND

R32

10k

FGND

R25

47k

R26

47k

FGND

C8

100n

V
+

11
V

-
6

U3E
LM13700

4

R
21

B

10
0k

 L

Triangle

Env

Noise

ExtIn

Out

+
12

V

+
12

V

-1
2V

Noise

mix

F-mix

Triangle

F-triangle

+
12

V
F-noise

F-mix

F-noise

Noise

mix

Ia
bc

Triangle

F-noiseNoise

F-triangle

F-mix

mix

Triangle

F-triangle

Log

Passive Mixing: http://tinyurl.com/ydb4xn7t

http://www.teaser.fr/amajorel/sims/

150k or 100k

50k or more ?  some noise's bleeding

old version
http://tinyurl.com/y8ybfsg8

active mixing:
http://tinyurl.com/y7rn2zuc

http://tinyurl.com/ybdl3trf

700µA

Output stage sim :
http://tinyurl.com/yb9a4enk

0.2
- C23 added for high frequency noise suppression when output loaded

Board to board connection

10k



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 6/9

Title: Drum Module 77
File: oscillator.sch
Sheet: /Oscillator/
David Haillant
http://www.davidhaillant.com

4

R
13

B

10
0k

C
12

1n

cc
w 1

2

3

R
37 2k

cc
w 1

2

3

R
47 2k

R46

2k Tempco

R45
100k

R44
100k

R43
100k

?

TP6
DC-Saw

R
52

10
k

R
53

10
k

FGND

R42
100k

C
14

10
u

R
54

10
0k

GND

+ 10

8

- 9

U2C
TL074

+12

-13

14

U2D
TL074

V
-

11
V

+
4

U2E
TL074

C10

100n

C11

100n

GND

cc
w 1

2

3

R
13

A
10

0k
R

40
10

k
R

41 1k

D6

1N4148

R
49

10
k

C13

2n2

?

TP7
Saw

R50
220k

+5

-6

7

U2B
TL074

R51
47k

R
48 1M

C 1

B
2

E 3Q2

BC547

1
-2

+3

U2A
TL074

C 1

B
2

E 3 Q3

BC547

Sweep

Ext-CV

Saw

LFO

+
12

V

+
12

V

vcocv

F-vcocv +
12

V

+
12

V

-1
2V

F
+

12
V

F
-1

2V

vcocvF-vcocv

vc_sum

F-vcocv

vcocv

dc-saw

1v/oct

Thermal contact

DC-Saw

Board to board connection

+3V

+8V

Q2 and Q3 have to be 
matched for better 
tracking over temperature 
changes

Calibration procedure:
------------------------------------
Set a low Freq. (Eg. 100Hz) then apply 1V CV.
Frequency MUST exactly double.
If lower, turn R47 to make freq. LOWER.
If higher, turn R47 to make freq. HIGHER.
Remove CV. Set again to low freq (100Hz) and apply 1V CV.
Repeat until frequency doubles for each volt added on CV.

Revision History
0.2:
- reversed R47. Turn clockwise = increase CV effect.

R46 is Tempco resistor
Use 2k 3300PPM

3,45 V

1V/oct adj.
vc_sum = - ((Rf/R1)V1 + (Rf/R2)V2 + (Rf/Rn)Vn)
vc_sum = - ((2200/100000)V1 + (2200/100000)V2 + (2200/100000)Vn)
vc_sum = - ((22/1000)V1 + (22/1000)V2 + (22/1000)Vn)
vc_sum = - (0.022 x V1 + 0.022 x V1 + 0.022 x Vn)

4.25V

+VCOV = +12V

Frequency



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 7/9

Title: Drum Module 77
File: power.sch
Sheet: /Power/
David Haillant
http://www.davidhaillant.com

GND

?

TP10
0V

GND

?

TP9
-12V

?

TP8
+12V

PWR_FLAG

GND

GND

PWR_FLAG

B2

BEAD

B1

BEAD

GND

FGND

PWR_FLAG

P
W

R
_F

LA
G

GND C18

10u

C19

10u

PWR_FLAG

D8

1N5819

D9

1N5819

1

10

2
34
56
78
9

K1

E
ur

o 
P

ow
er

F+12V+12V

-12V

-12V_bus

+12V_bus

-12V_bus

+12V_bus +12V_bus

-12V_bus

+

Remove and shunt Diodes to reduce LFO switching noise on Power Rail voltages (typically for the White Noise Gen)

+



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 8/9

Title: Drum Module 77
File: saw2tri.sch
Sheet: /Saw to Triangle/
David Haillant
http://www.davidhaillant.com

C 1

B
2

E 3Q4

BC547

C
20

10
u

R
64

10
0k

GND

GND

R
62

10
k

R
63

10
k

GND

+12

-13

14

U4D
TL074

R
61

10
k

cc
w1

2

3
R

601k

?

TP1
Tri

+10

8

-9

U4C
TL074

V
-

11
V

+
4

U4E

TL074

R
59

10
k

C22

100n

C21

100n

TriangleSaw

-1
2V

+
12

V+
12

V
-1

2V
+

12
V

-1
2V

T
ria

ng
le

+8V

-2.5V

+2.5V

Glitch

-2.5V

+2.5V

+3V

TP : Saw

-2.5 V

+2.5 V

Freq = 2F
Freq = F

DC-Saw

+6V

Triangle

( |\|\|\ -2.5/+2.5 V)

http://tinyurl.com/y839wjb5

1.5V

3.2V

Adjustment procedure:
Turn R60 until high frequency content fades out.

+2.5V

-2.5V+1V



1 2 3 4 5 6

1 2 3 4 5 6

A

B

C

D

A

B

C

D

Date: 2019-11-26
KiCad E.D.A.  kicad 5.1.5-52549c584ubuntu16.04.1

Rev: 1.0Size: A4
Id: 9/9

Title: Drum Module 77
File: hardware.sch
Sheet: /Hardware parts/
David Haillant
http://www.davidhaillant.com

1

M
3

DIL Socket 14

DIL Socket 14

F
G

N
D

F
G

N
D

G
N

D

G
N

D

FGNDFGND

1

M
7

DIL Socket 14

1

M
2

Front panel

frontpanel:dm77-10hp-20190312-fcad

FGND

1

M
5

12
34
56
78

K7

In
te

rc
on

ne
ct

12
34
56
78

K6

In
te

rc
on

ne
ct

GND

FGND

FGND

PCB Front

M3 Screw

1

M
1

M3 ScrewM3 Screw

M3 ScrewM3 Screw

FGND

FGND

1

M
6

GND

GND GND

M3 12mm Hex Standoff

M3 Washer

M3 Washer

M3 Screw

DIL Socket 16

GND GND GND

PCB Back

1
2

3
4

5
6

7
8

K
2Interconnect

12
34
56
78

K5

In
te

rc
on

ne
ct

12
34
56
78

K4

In
te

rc
on

ne
ct

1
2

3
4

5
6

7
8

K
3Interconnect

F-out

Noise

F-LFOS

LFOS

F-env

Env

F-noise

F
-e

xt
cv

ex
tc

v

+
12

V

out

F-LFOT

-1
2V

F
-1

2V

F
+

12
V

vc
oc

v
F

-v
co

cv

mix

F-mix

Triangle

F-triangle

LFOT

trig-unb

LFOS2

F-LFOS2

F
-L

F
O

F-trig-unb

S
w

ee
p

F
-s

w
ee

p

decay

F-decay

F-12V

F+12V

-12V

+12V

LF
O

Front PCB

Board to Board Interconnect

Back PCB

Jacks (WQP-PJ398SM):
http://www.qingpu-electronics.com/en/products/WQP-PJ398SM-362.html
https://www.thonk.co.uk/shop/3-5mm-jacks/

Buttons:
https://www.musikding.de/Nose-Knob-orange
http://smallbear-electronics.mybigcommerce.com/knurled-colored-caps/

Potentiometers:
https://www.thonk.co.uk/shop/alpha-9mm-pots/
http://smallbear-electronics.mybigcommerce.com/alpha-single-gang-9mm-right-angle-pc-mount/
https://www.musikding.de/Pot-9mm-100k-lin-Print-vertical

Revision History
0.2:
- Added missing links LFOS, ENV, 


